JG &% -
S8 BIER -

mEpER R AR
STRRTRIT A3

FHRh

@ HHRANMEEREN > 7
BRI RRELERS®
@ 2RFIIHEA * FISRCRUE

SBHMBEBCIERIGER -

E HIE (mm) 20 | @25 | @32 a0 | @50 | @63 | @80 100
BRI EENRE - EURET ( WEhREL )
ERES ER
ERENHE kef/cm?(kpa) | 15~7(150~700) | 1~7(100~700)
BRAFERED kgf / cm? (kPa) 9(900)
ERREEHE °C 0 ~60
EER 50 ~ 500 50~350 50 ~ 250
EREREEHE ‘
mm/s | EBHEY 100 ~ 500 —
B BH#AEA
BEOE M5x0.8 PT 1/8 PT 1/4 \ PT 3/8
g E B (GTHER/BRERAMINIEE 'S ")
FIMEEEAsE JG 32x25-A-B-9D2
o ®© © O 6 600
1 i 2 | fRs® FI1E (mm) 3% EI4E (mm) 5 Bhim R
20 220 50 250 e
25 225 63 263 S
32 232 80 280
40 240 100 @100 §
SR TR (1R B: ShFEL
3 EI1E (mm) BE(TEZ (mm) ERE .
@20 ~ @32 5~90 6 | K5 | REBKE TEE
JG p— o
@40 ~ 3100 5~140 @ | RHIRAESS
220 ~ 3100 5~50 JGD 9B CS-9B
@20~ @100 | 20,30,50,75,90 | JGAD 9D €S-9D 08
220~ @63 | 10,20,30,50,75,90 | JGAR 30E CS-30E
HERTISHRETIZ  $58% P6-3.77 RUFTIER %Dﬁ
- S 7 [ ®% | mmznE —
L Bl -
R ”25 mm 1 M 118
2 Ff 2 12l
B 40
18 JGAD B It
© fHif: KRFREE SBEA Z WAL © TERERDAZ R - CS-30E
© i EEHAAN (EREBUNE P6-3.60) BARMHERERELBBER  FUHAANTR o
© 7 : RFTE 2SR EERALZ 5 -
© B : (510),(15,20), (25,30), (35,40), (45,50) 2 AR EERATIIRAHIHZRT » B Smm 1%
— MBBRAS (HRFRIER P6-3.58) > 60mm LLLITRIEEEESE - (012 « 016 BERSH ) o
JGAR : AT B [EIRE © WA 1 16 2RFIEHEE -
© B BT EER  HEE P 6386 ERBMIERE -




JG B3l —

TIEBER - THMER

AMEpERRARE

AEETIERS
50 5 e . RE1TIE (MIREA)
5 (10 |15 | 20 | 25 | 30 | 35 | 40 | 45 | 50 | 65 | 75 | 90 | 115|140
20 ()| © |[(0)| © |[(©0)| © |(0)| © (O) © [ (3] ()
25 ()| © |[(@)| © |(©0)| © |(©0)| © |(©) © [J (J ()
32 ()| © [(©)| © [(0)] © ()| © |(©)| © [J (3] ()
JG —[] 40 |((o)| © ((0)| © |((0)| © |((0)| ©@ [(0), ®© | © | © | © | © | O
_El WED R 50 [(e)| © ()| @ |(@)| ©@ (@)l @ (@) ® | © | © | © | O | O
63 ()| © |[(0)| © |(©0)]| © |(©0)| © | (@) © [J () [J o (]
80 ()| © |[(@)| © |(©0)]| © |(©)| © | (@) © [J (] [J o (]
100 ((@)| © ((@)| © |[(@)| © ()| © |[(0)] © | © | © | © | © | O
20 (o) © |(@)| © (@) © |(©)| © |(@©)| ©
25 (o) © [(0)| © |(©0)| © |(0)| © (©) ©
32 |((e)| © |[(0)l © |(0)| © ()| © |(0)]| ©
JGD — [ ] 40 |((e)| © |((@)| © [(0)| © ()| © |(©)| ©
WA B Rl 50 ((0)| © (@) © ()| © |(©)| © |(@©)| ©
63 ()| © [(0)| © |(©0)| © |(©0)| © |(©) ©
80 ()| © [(@)| © |(0)| © |(0)| © |(©)| ©
100 (e¢)| e ((@) © (@) © [(0)| © |(@©)| ©
20 e e ) o | o
25 [ () (] e | o
32 () (] (] )
JGAD — [ ] 40 ° 3 e e | o
=P | gasmeame |50 ° ° ° o o
63 o o ) o | o
80 o o o o | o
100 ) ) ) o | o
20 [ o o ° e o | o o
25 () () () () ) () e o
JGAR — [] 32 e e e e o o | o | o
JEL_HA_ AIAEFZARE | 40 ) ° ° ° oe|le | o o0
50 o o ) o o o | o o
63 ) ) ) ) e | o oo
M EE: (0) ZABREAMRESMmM » N+HEAMETE ; Flal JG F20x(35) » AFEREH JG B20x40 R
C FHBBRMMK
NO == [p=1 NO =] =| Ein=1
01 PN sReés | 08 g 58 2 iR
02 IS R |09 | SEEBRR i o B2
03 EE sEE® | 10 | BiEsEmR B EE
04 e |HES | 11| BBERE i 78 f2
05 | QNI X &h FRERER | 12 | BRBR A ifid o 2
06 (oF:1E:: il pE | 13 B 84 B[R
07 | EMABER fifmpE | 14 ifid i 38 #HanEe




JG &%l —

Dk

mEpERRARI

SMEERR [ JG REMEAE

REMEAR

c

JG @20 ~ @25

© JG @32 ~@100

ElF|o
©C AFEFRT O SNFEFR
A+ 1772 B2
B C+17%2 E
F G Hi
ot | N N | ‘—’\
F G
‘ /
3 & T — J ]
53] < : SIS D
L S~ e T 7 —‘4(
W2 sz —
mE || &u \ P, e -
B |
. M
5 : 1. 17824 5, 15, 25, 35, 45 Z A8 RE AN 5mm 518 © B :mm
fI4=\#@%%| A | C | B, | B, | D | E G | H | H K, K, L | M | N, o
220 | 35 [295|55 (195 — | 18 | 4 | 15| 13 | 14 | M4x0.7Px10%F | M6x10P | 13 | 3 | 7.5 | M5x0.8P
@25 [372(312| 6 | 22 | — [201] 41| 19| 15 | 16 | M5x0.8Px123F | M8x125P | 17 | 3 | 8 | M5x0.8P
@32 | 41 | 34| 7 | 24| 50 [207|37 (33| 16 | 17 | M6xIPx14% |MIOx125P| 22 | 3 | 9 PT1/8
@40 |435(365| 7 | 34 | 58 |307| 3.7 | 33| 25 | 27 | M8x125Px143F | M14x15P | 28 | 3 | 10 | PT1/8
@50 |476(386| 9 | 36 | 71 |321] 51| 39| 25 | 27 | MI0x15Px153%F | M18x15P | 38 | 3 [10.85| PT1/4
@63 | 51 |425| 85 | 355|845 |31.6| 46 | 3.9 | 25 | 27 | MI0x15Px153%F | MI8x15P | 40 | 3 | 11 | PT1/4
@80 | 62 |51.3]107|437| 104 [387] 57| 5 | 30 | 33 | M14x15Px203% | M22x15P | 45 | 4 | 13 | PT3/8
@100 | 64 |553| 8.7 | 417|124 |387| 57 | 3 | 30 | 33 | MI16x2Px30:F | M22x15P | 45 | 4 | 15 | PT3/8
19\ 5298 P, (EE7L) PP, | R| S| T |V W]/ [ WwW]|Xx/|Y
220 | 7L 043, F M5x0.8P x 6 3F ; HFL BT x5 3F; (Hig) 11| 5 | — |3 |24| 81|66 |—]—
@25 | 7L @5.1, F M6 x 1.0Px 8 3 ; HFL @98 x 6 iF; (Wig) 14 | 6 | — | 40| 28] 10 8 = | =
@32 | 7L @5.1, KF M6x 1.OPx 8 3% ; 7L @8 x 6 F; (Wig) 14| 6 | 6 | 44| 34| 12| 10| 10 | 15 | 136
@40 | i®7L06.8, WF M8 x 1.25P x 10 3% ; HFL 010 x 8 3% ; ( i ) 18 | 8 | 6 | 52| 40 | 16 | 14 | 14 | 15 | 13.6
@50 | iB7L06.8, WF M8 x 1.25P x 10 3 ; 7L O11x 8.5 3% ; ( Mt ) 18585 | 9 | 62 | 48 | 20 | 18 | 17 |21.6]| 19
263 | iB7L06.8, WF M8x 1.25P x 10 3% ; HFL @11 x 8.5 3% ; ( fi ) 185| 85 | 95 | 75 | 60 | 20 | 18 | 17 | 23.5|20.5
@80 | i®FL010.4, WF M12x L.75P x 123 ; 7L @14 x 10538 ; (M) |225[105| 10 | 94 | 74 | 25 | 22 | 22 |276] 25
2100 | iBFL012.5, I M14x 2P x 15 3% ; 7L ©18.5x 13 3F ; (Hig ) 28 | 13 | 10 | 114 | 90 | 25 | 22 | 22 |27.6| 25




JG &%l —

SMREIRRT [ JGD A

mEpERRAR

B
© JGD 220 ~ @25

C RFERRY

© JGD @32~ @100

D

T

C S FERRY

B2

A+ (712x2) E
B C+1172 Bi+ 1772 Hi
F_l,l G G F+ 1782 l_H_
2-0 N | . ‘ .
4‘» :/
oS 8 = T '
LR Rilmia - O s s -0
VA Ke —
W ‘ ‘ Wa " —
P P2 ‘ ‘ P2 s e 4><M
P LR
M M
5% 1. 17125 5,15,25,35,45 Z ABSREZENM 5mm 518 o B :mm
EI{Z\508%| A C B, B, D E F G H H; Ky K, L M N, (o]
@20 40.5/295| 55 | 195| — | 18 4 | 15| 13 | 14 M4 x 0.7P x 10 7& M6x1.0P | 13 3 | 7.5 | M5x0.8P
@25 432312 | 6 22 | — 201 41|19 | 15 | 16 M5x0.8Px12% | M8x1.25P | 17 3 8 | M5x0.8P
232 48 | 34 7 24 | 50 |20.7| 37|33 | 16 | 17 M6 x 1P x 14 7 M10x 1.25P | 22 3 9 PT1/8
240 505|365 | 7 34 58 |30.7| 3.7 | 3.3 25 27 M8x1.25Px 14 % | M14x15P | 28 3 10 PT1/8
@50 56.6 386 | 9 36 71 | 321 51 | 39 25 27 M10x 1.5P x 15 3% M18x 1.5P | 38 3 |10.85| PT1/4
263 59.5|42.5| 85 | 355|845 |31.6| 46 | 3.9 | 25 | 27 | MI0x15Px15:% | M18x1.5P | 40 3 11 PT 1/4
@80 72.7|51.3]10.7|43.7| 104 | 387 | 57 | 5 30 | 33 | M14x15Px207% | M22x1.5P | 45 4 13 PT 3/8
@100 | 72.7 553 | 8.7 | 417|124 [387| 57 | 3 | 30 | 33 | M16x2Px303%F | M22x15P | 45 | 4 | 15 | PT3/8
HI1%\ 525 P, (EIEFL ) P, | P, R S Ta vV | w | W, | X Y
@20 iB7L 04.3, F M5 x 0.8P x 6 3F ; HFL 07 x5 iF ; (Wi ) 11 5 — 34 24 8 6 6 — —
@25 iBFL 5.1, F M6 x 1.OP x 8 3% ; #£FL. @8 x 6 & ; ( Mg ) 14 6 — 40 28 10 8 — —
232 iBFL @5.1, 5F M6 x 1.0P x 8 7% ; #FL @8 x 6 % ; (Mg ) 14 6 6 44 | 34 | 12 | 10 | 10 | 15 | 136
240 iBFl, 96.8, I M8 x 1.25P x 10 3% ; 17 @10 x 8 7F ; ( Wi ) 18 8 6 52 | 40 | 16 | 14 | 14 | 15 |136
250 iB7L 96.8, WHF M8 x 1.25P x 10 3% ; 1+FL @11 x 8.5 7F ; ( M ) 185| 85| 9 62 | 48 | 20 | 18 | 17 | 216 19
263 iBFlL 96.8, G M8 x 1.25P x 10 3% ; 7L @11 x 8.5 7% ; (Mg ) 185| 85 | 95 | 75 60 20 18 17 | 23.5 | 20.5
280 iBFL 010.4, 5 M12 x 1.75P x 12 3% ; #+FL 914 x 10.5 7% ; ( @i ) 2251105 | 10 94 74 25 22 22 | 276 25
@100 | &L ©@12.5, F M14 x 2P x 15 3 ; #=F, ©18.5x 13 & ; (Mi& ) 28 | 13 | 10 | 114 | 90 | 25 | 22 | 22 |27.6| 25




JG A%l — miEMERRARE
SMRERZR < | JGAD — 34752 25mm

1712938 25mm REL
© JGAD @20 ~ @100 C INFEFR~T

oL
[4)

C RFEFR

A+ (772X 2) Ns

B C+1712 G+ 1712 N2

0005
oL
[
N

J

D

A\
LS
I

N5

3 0 1. ABEERUEITIZ : 30 (1TAZATEHEE 25mm) o

B :mm

FI7\&3%| A | C | B, | B, | D | E | F | G | H | H K, K, L | M| N | N, | Ny | Ns
@20 36.5/29.5| 55 |195| — 18 4 15| 13 | 14 M4 x 0.7P x 10 7% M6 x 1.0P 13| 3 7.5 31 | 385 16
225 39.1|31.2| 6 22 — 1201 41|19 15 | 16 M5 x 0.8P x 12 & M8 x 1.25P 17 | 3 8 33 | 42 | 20
232 443 | 34 7 24 | 50 |20.7|3.7 |33 | 16 | 17 M6 x 1P x 14 % M10x 1.25P | 22 | 3 9 33 | 435 25
240 46.8136.5| T 34 | 58 |30.7| 3.7 |33 | 25 | 27 | M8x1.25Px 14 % M14 x 1.5P 28 | 3 10 35 | 49 | 32
@50 51.5|386| 9 36 | 71 [321|51 (39| 25| 27 | M10x1.5Px15% M18x1.5P | 38 | 3 |10.85| 37 | 56 | 36
263 54.91425| 85 |355|84.5|316| 46 | 3.9 | 25 | 27 | M10x1.5Px 157 M18x1.5P | 40 | 3 11 37 | 56 | 36
@80 67 |51.3|10.7|43.7| 104 |38.7| 5.7 5 30 | 33 | M14x1.5Px20 % M22 x 1.5P 45 | 4 13 37 | 58.5| 44
@100 67 |55.3| 8.7 |41.7| 124 |38.7 | 5.7 3 30 | 33 M16 x 2P x 20 3% M22 x 1.5P 45 | 4 15 37 |58.5| 44
FI{Z\505% [0} P, (EE7FL) P, | P, R S T, V | W | W, | X Y
@20 M5 x 0.8P |i@FL @4.3 , 5F M5x 0.8P x 6 3% ; IFFL @7 x5 F; (Wi ) 11| 5 34|24 | 8 6 —
225 M5 x 0.8P |iBFL @5.1, 5 M6 x 1.0P x 8 3% ; 1+FL @8 x 6 & ; (Mig) 14 | 6 — | 40 | 28 | 10 | 8 8 - | =

@32 PT1/8 |i#7L@5.1, %5 M6x 1.0P x 8 3 ; {7, @8 x 6 3F ; (Wi ) 14| 6| 6 |44 |34]12|10| 10| 15 |136

@40 PT1/8 |i&¥l 6.8, F M8x 1.25P x 10 7% ; 17 G10x 8 7F ; (MiZ) 18 8 6 52 | 40 | 16 | 14 | 14 | 15 |13.6
@50 PT1/4 |i&¥L 6.8, F M8x 1.25P x 10 & ; 1+7L @11 x 8.5 % ; ( Mg ) 18585 | 9 62 | 48 | 20 | 18 | 17 |21.6| 19

263 PT 1/4 |i#@Fl ©6.8, 5 M8 x 1.25P x 10 iF ; #£7L @11 x 8.5 7F ; (Wi ) 18585 |95 | 75 | 60 | 20 | 18 | 17 |23.5|20.5
@80 PT3/8 |i@FlL ©10.4,F M12 x 1.75P x 12 3% ; #FL @14 x 10.5 3% ; (i ) [22.5/10.5| 10 | 94 | 74 | 25 | 22 | 22 [27.6]| 25
@100 PT3/8 |i@¥l©@12.5,F M14x2P x 15 3% ; ##L 018.5x 13 iF; (Mi&) 28 | 13 | 10 | 114| 90 | 25 | 22 | 22 |27.6| 25




Dl

JG RY — miE

PrEREARE

SpREIR; R~ [ JGAD — RIEATTHE 40mm

1712938 40mm REL

© JGAD @20~ @100 C HFEFR
B2
E
Hi1
_H
Al e
—
o2 T )
E}' gﬁfﬁ%’ Ve .\
=
Ke 1
W1 —_—
g M
C AFEFRT
A+ ($712x2) Ns
B1 C+ 1718 G+ 1712 N2
2.0 F |G
wm |
g"‘“ -
°‘?§ grﬂ N A =
- 3 + Jg S
r N~ |-
J ==
& pll e
PP
il
5 0 1 AREERIF{TIZ 1 50,75,100 (1TH2AT A% 40mm ) © B mm
5I7€\&@%| A | C | B, | B, | D | E G | H | H K, K, L {M| N | N | Ny | Ng
@20 |36.5[295| 55 (195 — | 18 | 4 | 15| 13 | 14 | M4x0.7Px103F | M6x1.0P |13 | 3 | 7.5 | 5 |63.5| 16
@25 |39.1|312| 6 | 22 | — |201| 41| 19| 15 | 16 | M5x0.8Px12%& | M8x125P | 17 | 3 | 8 | 58 | 67 | 20
@32 |443| 34| 7 | 24|50 |207|37|33| 16 | 17 | M6x1Px143%F | M10x125P | 22 | 3 | 9 | 58 |685]| 25
@40 |46.8|365| 7 | 34 | 58 |30.7| 3.7 | 3.3 | 25 | 27 | M8x1.25Px 14 | M14x15P | 28 | 3 | 10 | 60 | 74 | 32
@50 |51.5(386| 9 | 36 | 71 |321| 51 |39 | 25 | 27 | M1I0x1.5Px153% | M18x1.5P | 38 | 3 |10.85| 62 | 81 | 36
@63 |54.9|425| 85 |355|84.5(31.6| 46 | 3.9 | 25 | 27 | MIOXx1.5Px153% | M18x1.5P | 40 | 3 | 11 | 62 | 81 | 36
@80 67 |51.3|10.743.7| 104 |38.7| 57 | 5 | 30 | 33 | M14x1.5Px203% | M22x15P | 45 | 4 | 13 | 62 |835| 44
@100 | 67 |55.3| 8.7 |41.7|124|387|57 | 3 | 30 | 33 | MI6x2Px203% | M22x15P | 45 | 4 | 15 | 62 |83.5| 44
HI1%\ 505% o P, (EE7L) P, | P, | R|S|T W, | W, | X | Y
@20 M5x 0.8P |i#FL @4.3, WG M5x 0.8P x 6 33 ; 17, @7 x 5 iF; (W& ) 11| 5 | — | 34|24 6 |6 | —|—
@25 M5x 0.8P |i@7 @5.1, BF M6 x 1.0P x 8 3% ; 1+7L @8 x 6 & ; ( Mi&) 14| 6 | — (40|28 |10 8 | 8 | —| —
@32 PT1/8 |i@FL@5.1, 5 M6 x 1.0P x 8 3% ; i7L @8 x 6 & ; (Fi&) 14| 6 | 6 |44 |34 |12|10]| 10 | 15 |13.6
@40 PT1/8 |i&F.@6.8, 5 M8 x 1.25P x 10 35 ; #+FL 010 x 8 3& ; ( fi& ) 18 | 8 | 6 | 52|40 | 16 | 14 | 14 | 15 |13.6
@50 PT1/4 |i&7,©6.8, 5 M8 x 1.25P x 10 3 ; 7L @11 x 8.5 3% ; ( i) 18585 | 9 | 62| 48 | 20 | 18 | 17 |21.6| 19
@63 PT1/4 |i&7FL@6.8, 5 M8 x 1.25P x 10 3 ; 1+¥L @11 x 8.5 3% ; (i ) 185/ 85 (9.5 | 75 | 60 | 20 | 18 | 17 |23.5]20.5
@80 PT3/8 |i@FL010.4, F M12x 1.75P x 12 3% ; {FFL @14 x 10.5 3% ; (Wi ) | 22.5(10.5| 10 | 94 | 74 | 25 | 22 | 22 |27.6| 25
@100 PT3/8 |i®FL @12.5, LG M14 x 2P x 15 3% ; 17l ©18.5x 13 & ; (i) 28 | 13 | 10 |114| 90 | 25 | 22 | 22 |27.6| 25




JG &%l —

ek e

A=

PR s REEL
SMRERZR T / JGAR — ATHAE#R 10mm

21727 10mm Rl
C JGAR @20 ~ @63

B>

E
H1

F

C SMNFBER R

Jos
oL
o)

K

W1
2]

C RFERR

A+ 1718 Ns
D
B C+17%2 N2
S R
F G
T4 2-0
| e N
Z
. i
/1| & S————|
T f
- Wa [ |
poig P2 ‘ ‘ P2
Na
P+ ‘ P4
M

5% :1.9742% 5,15,25,35,45,55 Z AR REZANM 5mm 5HEH o B4 :mm
FIE\sE5%| A C B, | B, D E F G H H, K, K, L M N; N, | N; N,

@20 35 (295| 55 |195| — | 18 4 | 15| 13 | 14 | M4x0.7Px10% | M6x1.0P | 13 | 3 7.5 |15.3|38.3 | M8x1.25P

@25 37.2|31.2| 6 22 | — |20.1( 41| 19| 15 | 16 | M5x0.8Px12 7% | M8x1.25P | 17 | 3 8 14.9 | 37.9 | M8x1.25P

@32 41 | 34 7 24 | 50 |20.7|3.7 33| 16 | 17 M6x 1P x143% |[M10x1.25P| 22 | 3 9 17.143.1| M10x1.5P

@40 435|365 7 34 | 58 |30.7|3.7 33| 25| 27 | M8x1.25Px 143 | M14x15P | 28 | 3 10 |16.3|42.3 | M10x1.5P

@50 476|386 9 36 | 71 {32151 39| 25 | 27 |M10x1.5Px15% | M18x1.5P | 38 | 3 |10.8520.7|50.7 | M16x1.5P

@63 51 |42.5| 8.5 (35.5|84.5|31.6| 4.6 | 3.9 | 25 | 27 |M10x15Px15% | M18x1.5P | 40 | 3 11 |19.8 |49.8 | M16x1.5P
EI1E\5E5% (0] P, (EIEZL) P, | P, | R S| T, | V |W|W|X Y

@20 M5x 0.8P | i@FL @4.3, BT M5 x 0.8P x 6 3% ; =L @7 x 5 & ; (Mig) 11 5 — | 34| 24 8 6 6 — —

@25 M5x 0.8P | i@FL @5.1, BZF M6 x 1.0P x 8 i ; =L @8 x 6 iF ; (Wi ) 14 6 — | 40 | 28 | 10 8 8 = =

@32 PT1/8 Bl @5.1,5F M6 x 1.OP x 8 7% ; 17 @8 x 6 & ; (M) 14 6 6 44 | 34 | 12 | 10 | 10 | 15 |13.6

240 PT 1/8 1Bl 06.8, BIZF M8 x 1.25P x 10 7% ; #FL @10 x 8 7F ; ( muig ) 18 8 6 52 | 40 | 16 | 14 | 14 | 15 |13.6

@50 PT1/4 1BFl, 6.8, TRHF M8 x 1.25P x 10 % ; #FL, @11 x 8.5 % ; (W& ) |185| 85| 9 62 | 48 | 20 | 18 | 17 |21.6| 19

a63 PT1/4 1B7l, 6.8, RGF M8 x 1.25P x 10 % ; #F, @11 x 8.5 % ; (i) |18.5| 85 | 95| 75 | 60 | 20 | 18 | 17 [23.5(20.5






